1

e Y

tid conc E(t) tE(t) t2*E(t)
100 10 6,19E-05 0,006192 0,619195
200 80 0,000495 0,099071 19,81424
300 130 0,000805 0,241486 72,44582
400 200 0,001238 0,495356 198,1424
500 350 0,002167 1,083591 541,7957
600 400 0,002477 1,486068 891,6409
700 250 0,001548 1,083591 758,5139
200 120 0,000743 0,594427 475,5418
900 80 0,000495 0,44582 401,2384
1000 0 0 0 0
1615 0,01 5,532508 3359,443
161500
Cal= 150
k= 0,0006
tau= 553,2508
varians= 29857,85
N= 10,25145
DealvL= 0,051417
0,048774
ur diagram
X tank= 0,973
x disp= 0.975
x segreg= 0,278597
; 2.
J,10] = 2x 2K
v’? g = J; 08 3
’ = 0,053

exp(-kt)

0,941765

0,88692

0,83527
0,786628
0,740818
0,697676
0,657047
0,618783
0,582748

0,548812
6,556118

ktauCAO=

exp(-kt)*E

5,8314E-05
0,00043934
0,00067235
0,00097415
0,00160549
0,00172799

0,0010171
0,00045978
0,00028867

0
0,00721403

49,8

0
-0,00475772
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